	Maths 
Year 2

	Date: 25.3.2020 

	Mental arithmetic focus: number bonds to 20

	Key vocabulary:
Adding                             Bridging 
Equals 
Bigger 
Smaller 
Partition 
Tens 
Ones 
	Resources / ICT link:
https://uk.ixl.com/math/year-2/addition-sentences-for-word-problems-sums-up-to-20

For IXL you will need to set up a 30 day free membership. 

	Learning  objectives 
· Can I add two numbers by bridging to the nearest 10?
· Can I add 2 digit numbers by bridging to the nearest 10? 
· Can I show the commutative of an addition number sentence?


	Key learning points (input)
Quick fire with the children number bonds to 20, this is a simple mental maths starter. You say a number e.g. 7 and then the child must say how many more is needed to reach 20, e.g. 13. It’s done in their heads with no equipment. 

Children will be continuing to add through bridging to the nearest 10s. See examples below:
[image: ]
The first step is to partition the second 2 digit number so the children can see how many tens and ones. 
Then they add the tens first. Then the ones, when adding the ones they bridge to the nearest ten e.g. +2 to 70 and then add the remaining +2. It does take some mental maths work as the children should know their number bonds to 10 and 20.
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Children will also be showing the commutative for their addition number sentences. This is when you change the numbers round in a number sentence to check whether the answer is still the same. See example below:
[image: ]

	Activity
Children to complete different addition number problems showing their workings out by bridging to the nearest 10 and showing the commutative.
Support –  Questions:
23 + 18
22 + 19
13 + 39
17 + 25

Have a go – Questions:
28 + 56
57 + 39
47 + 39
39 + 25

[bookmark: _GoBack]Challenge – Show the commutative and reason how you know the answer is correct e.g. I used my number bond knowledge to work out that after I added on the tens it was only 1 more to 40 and then I added the remaining 6 in 2s. (Using example from above).

	Success criteria
I will know I am successful if I can:
· Add 2 digit numbers using bridging to the nearest 10.
· Add larger numbers using bridging to the nearest 10.
· Show the commutative to an addition number sentence so I can check my answer is correct. 
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